West Bengal Tourism Development Corporation Limited Ph: 033-2358-5189

(A Government of West Bengal Undertaking) Fax: 033-2359-8292

DG Block, Sector- II, Salt Lake City, Kolkata-700091 e-mail: tenderwbtdcl@gmail.com

1446/WBTDEL

DATE: 12-12-2023

Corrigendum of NIT No.58/WBTDCL OF 2023-24 (Technical)

e- Tender for the work "Repair of Sewerage line at Staff quarters at Udayachal Tourism Property under WBTDCL in the year 2023-24."

Reasons: Revised BOQ.

Superintending Engineer

West Bengal Tourism Development Corporation Limited.

Price Schedule

"Repair of Sewerage line at staff quarters at Udayachal Tourism Property under WBTDCL in the year 2023-24"

No	Ref of Rate	Description	Unit	Quantity	Rate (Rs.)	Amount (Rs.)
	No.	CIVIL WORK				
1	Pg 10 It 1	Dismantling all types of masonry excepting cement concrete plain or reinforced, stacking serviceable materials at site and removing rubbish as directed within a lead of 75 m. a) In ground floor including roof.				
2	Pg 10 It	Dismantling R.C. floor, roof, beams etc. including cutting rods and removing rubbish as directed within a lead of 75 m. including	Cu.M	1.5537	447	694
		stacking of steel bars. (a) In ground floor including roof				
			Cu.M	1.1250	1956	2200.5
3	Pg-1, It- 2(a)	Earth work in excavation of foundation trenches or drains, in all sorts of soil (including mixed soil but excluding laterite or sandstone) including removing, spreading or stacking the spoils within a lead of 75 m. as directed. The item includes necessary trimming the sides of trenches, levelling, dressing and ramming the bottom, bailing out water as required complete. a) Depth of excavation not exceeding 1,500 mm.				
			Cu.M	9.0000	119.27	1073.43
4	Page-1, It-3	Earth work in filling in foundation trenches or plinth with good earth, in layers not exceeding 150 mm. including watering and ramming etc. layer by layer complete. (Payment to be made on the basis of measurement of finished quantity of work) (a) With earth obtained from excavation of foundation.				
		2/5th of It no 3	Cu.M	3.6000	77.54	279.14
5	Pg 12 It 13	Removal of rubbish,earth etc. from the working site and disposal of the same beyond the compound, in conformity with the Municipal / Corporation Rules for such disposal, loading into truck and cleaning the site in all respect as per direction of Engineer in charge		3.0000	11.34	2/9.14
			Cu.M	8.0787	166	1341.00
6		125 mm thick Brick masonry work in cement mortar (1:4)				
	16		Sq.M	4.7096	736	3466.27
7	Pg 41 It 33	Ordinary Cement concrete (mix 1:2:4) with graded stone chips (6mm nominal size) excluding shuttering and reinforcement, if any, in gound floor as per relevant IS codes Pakur variety				
			Cu.M	2.2500	5449	12260.25
8	Pg 189 It 1	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor). [Excluding cost of chipping over concrete surface] (ii) With 1:4 cement mortar (b) 15 mm thick plaster				
9	Pg 192 It 15	Neat cement punning about 1.5mm thick in wall, dado, window sill, floor etc.	Sq.M	0.4950	167	82.67
	11 13	noor cut.	Sq.M	1.6200	34	55.08

" Repair of Sewerage line at staff quarters at Udayachal Tourism Property under WBTDCL in the year 2023-24"

No	Ref of Rate	Description	Unit	Quantity	Rate (Rs.)	Amount (Rs.)
	55-H	SANITARY AND PLUMBING				
10		Dismantling H.C.I. pipe with fittings including melting lead caulked joints.(iv) 150 mm				
			Mtr	30.0000	71	2130.00
11	Pg 96 It	Cleaning silt of inspection pit			1	
	2		Each	6.0000	154	924.00
12	HILLS OF STREET	xxx) Cleaning Pipe (b) 110 mm				
	23		Each	9.0000	182	1638.00
		(c) 160 mm	Each	5.0000	459	2295.00
13	Pg 96 It	Removing sludge from septic tank, soak well etc. by methor labour including disposal of the same outside the compound as directed.(a) Upto 20 users:- (i) Within a lead of 150 metre				
			Each	6.0000	1920	11520.00
14	3rd	Supply of Unplasticized Non-Pressure Polyvinyl Chloride (PVC-U) Pipes for use in unerground drainage & swerage systems conforming to IS-13528-2003, Single Socketed 3 Meter Length(SN2) 160mm(rubber ring type)		0.000	1002	
15	2New		Mtr	9.0000	1003	9027.00
	item in 3rd corrigen	Labour for fitting and fixing Unplasticized non-pressure Poly Chloride (P.V.C-U) pipes for underground drainage and sewerage system (IS 15328:2003) including cost of jointing materials etc. fitting and fixing all necessary specials, cutting pipes, cutting holes in walls or R.C. floor where necessary and mending good all damages excluding the cost of masonry or concrete work, if necessary, but including the cost andfitting and fixing holder bat clamps (any floor) or for underground work including cutting trenches upto 1.5 metre and refilling the same complete as per direction of the Engineer-in-charge. (Payment will be LU made on centre line measurement of the total pipeline including specials				
		160 mm				
			Mtr	9.0000	93	837.00
16	Pg 91 It 7	Supplying, fitting and fixing in position R.C.C. Manhole/ pit cover of approved make with rim of approved make (Heavy type) (i) 450 mm dia.				

"Repair of Sewerage line at staff quarters at Udayachal Tourism Property under WBTDCL in the year 2023-24"

SI No	Ref of Rate	Description	Unit	Quantity	Rate (Rs.)	Amount (Rs.)	
17	1 7th corrigen da	Constructing Inspection pit of inside measurement 600mm X 600mm X upto 600mm (depth) with 250 mm thick 1st. class brick work in cement mortar (1:4) on all sides, bottom of the pit consisting of 100 mm thick cement concrete (1:3:6) with stone chips over a layer of jhama brick flat soling, 15 mm thick (1:4) cement plaster to inside walls and out-side walls upto G.L. and 20 mm.thick (1:4) plaster to bottom of the pit, providing necessary invert with cement concrete (1:3:6) with stone chips as per direction, neat cement finishing to entire internal surfaces, top of the pit covered with 100 mm thick R.C.C. slab (1:1.5:3) with stone chips and necessary reinforcements upto 1% and shuttering including 6 mm thick cement plaster (1:4) in all external surfaces of the slab and one 560 mm dia. R.C.C. manhole cover of approved make supplied, fitted and fixed in the slab with necessary fittings, necessary earthwork in excavation in all sorts of soil, filling sides of the pit with earth and removing spoils after work complete in all respect with all costs of labour and materials. With Pakur variety (SAIL/TATA/RINL)					
			Each	4.0000	7253	29012.00	
	Sub Total						
	GST 18%						
	Sub Total including GST						
	Cess 1%						
	Sub Total including Cess						
	Say						

Sub Assistant Engineer (Civil)
WBTDCL